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QUESTION 1

What does the space allocation argument in a lun create command do?
A. It thick provisions the LUN.

B. It only disables space reclamation (or the LUN.

C. It thin provisions the LUN,

D. It enables or disables space reclamation for the LUN

Correct Answer: D

QUESTION 2

What is the recommended minimum of data LIFs per node for iSCSI in a dual-fabric configuration with four SVMs?
A. 8

B. 12

C.16

D.4

Correct Answer: A

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.dot-cm-sanconf/GUID- 650DC466-CAS3F-
4032-8005-078FCEEB52E7.html (6th bullet)

QUESTION 3

You are about to replace a failed Brocade Fibre Channel switch. Which three steps do you take prior to connecting the
switch in the SAN? (Choose three.)

A. Force the new switch to be the principle switch.

B. Change the domain ID of the replacement switch to the domain ID of the failed switch.

C. Clear all zoning configurations on the replacement switch.

D. Change the core PID format of the replacement switch to the core PID format of the failed switch.
E. Preload the zoning information from the fabric onto the new switch.

Correct Answer: BCD

QUESTION 4
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Question | | Exhibit |

FC/FCoE and NWVMe Adapters
Eclit Statis Rafvirsh
| WWWNN | Node Name | Slot | Data Protocols | WWPN | status | Speed |

50:0a:09.80:B0:82:61:11  AFF_1 e fcp 50:0a:09:84:80:83:61:11  [ink not connected  auto
50:0a:09:80:80:83:61:11  AFF_1 of fep S00a:09:83:80:83:61:11  |ink not connected  auto
50:02:09:80:80:83:61:11  AFF 1 Og fcp 50:0a:09:86:80:83:61:11 |ink not connected  auto
S0:0m09:80:B0:83:61:11  AFF 1 oh fep S0:08:09:85:80:83:61:11  |ink not connected  auto
50:0a:09:80:80:83:61:11  AFF 1 la fepdfc_nvme 50:02:09:81:80:83:61:11  online auto
50:02:09:80:80:82:61:11  AFF_1 1b  fepfc nvme 50:02:09:82:80:82:61:11  online auto
50:02:0%:80:80:d3:61:00  AFF 2 Og  fep 50:02:00:82:80:d3:61:00  online auto
50:0a:09:80:80:d3:61:00  AFF 2 of fecp 500a:09:81:80:d3:61:00  link not connected  auto
S0:0a:09:80:B0:d3:61:00  AFF 2 Og fep 50:0a:09:64:80:d3:61:00  online auto
S0i0a:0%80:B0:d3:61:00  AFF 2 ﬂF fep 20:0a:09:83:80:d3:61:00  |ink not connected  auto

A customer is using both FC and NVMe in a cluster. The customer needs to do some work on AFF_1. Referring to the
exhibit, what will happen?

A. The NVMe namespaces on AFF_2 will be available after takeover of AFF_1.

B. The FC LUNSs that use cluster interconnect to access the LUNs on AFF_1 will be unavailable after failover.
C. The FC LUNSs on node AFF_2 will be unavailable after failover of AFF_1.

D. The NVMe namespaces on AFF_1 will be unavailable after takeover by AFF_2.

Correct Answer: C

QUESTION 5

A customer is expanding an ONTAP 9.4 switchless 2-node FAS2750 cluster. Two AFF A220 nodes will be added to the
cluster. In addition to the cluster nodes, what else is required to perform the cluster expansion?

A. Additional management switches are required.
B. An upgrade to ONTAP 9.5 is required.

C. Cluster switches are required.

D. Additional DS224C shelves are needed.

Correct Answer: A
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